BID to the BOROUGH OF AVALON CAPE MAY COUNTY, NEW JERSEY 78th STREET PUMP STATION CONTRACT NO. M-126

Base Bid Work

ITEM 1	BASE BID FOR ALL WORK IN COMPLETION OF THE 78th STREET PUMP STATION RECONSTRU (COMPLETE AND OPERATIONAL)	JCTION	
	1 L.S. @\$ 740,000.00		\$ 740,000.00
	(WRITE LUMP SUM PRICE for Item 1 in Words a	nd Numbers)	
ITEM 2	SOIL EROSION AND SEDIMENT CONTROL		
	1 L.S. @ \$ \00.00		\$ 100.00
	One hundred dallars (WRITE LUMP SUM PRICE for Item 2 in Words a	ınd Numbers)	
ITEM 3	TEST PITS		16 5 5
	20 C.Y. @ \$	Per C.Y.	\$ 16,000.00
	Eight hundred dollars (Write Unit Price for Item 3 in Words and Numbers))	
ITEM 4	NOT IN CONTRACT		
ITEM 5	TRENCH RESTORATION		
ITEM 5a	Temporary Daily Paving		
	2102 LF @ \$ <u>5.90</u> F	Per LF	\$10,510.00
	Five dollars		
	(WRITE UNIT PRICE for Item 5a in Words and No	umbers)	
ITEM 5b	Temporary Trench Restoration		01 192 00
	2102 LF @ \$ 46.00 Pe	er LF	<u>\$</u> 96,692.00
	Forty-six dollars (WRITE UNIT PRICE for Item 5b in Words and No		
	(WRITE UNIT PRICE for Item 5b in Words and N	umbers)	

ITEM 5c	Permanent Trench Restoration	
	659 LF @ \$ 3 3 . 00 Per LF	\$ 21,088.00
	Thirty-two dollars (WRITE UNIT PRICE for Item 5c in Words and Numbers)	
ITEM 6	LANDSCAPING	
ITEM 6a	Sodding	0
	50 S.Y. @ \$ 70.00 Per S.Y.	\$ 3,500.00
	WRITE UNIT PRICE for Item 6a in Words and Numbers)	
ITEM 6b	Landscape Bed Mulching, If and Where Directed	
	24 S.Y. @ \$ 25.00 Per S.Y.	\$ 600.00
	(WRITE UNIT PRICE for Item 6b in Words and Numbers)	
ITEM 6c	Landscape Stone Mulch, 4" Thick	
	225 S.Y. @ \$ 25. 00 Per S.Y.	\$5,625.00
	Twenty-five dollars (WRITE UNIT PRICE for Item 6c in Words and Numbers)	
ITEM 6d	Modular Block Retaining Wall	
	70 L.F. @ \$ 225.00 Per L.F.	\$ 15,750,00
	Two hundred twenty-five dallars (WRITE UNIT PRICE for Item 6d in Words and Numbers)	
ITEM 6e	Transplanting Existing Adam's Needle Shrubs	
	6 UNITS @ \$ 200.00 Per UNIT	\$ 1,200.00
	(WRITE UNIT PRICE for Item 6e in Words and Numbers)	
ITEM 6f	Import, Spread, and Compact Clean Topsoil	
	35 C.Y. @ \$ 15.00 Per UNIT	\$ 4.025.00
	One hundred fifteen dollars (WRITE UNIT PRICE for Item 6f in Words and Numbers)	
ITEM 7	CURB AND GUTTER	

ITEM 7a	Remove & Reset Existing Landscape Curb	
	67 L.F. @ \$_ <i>65</i> .00 Per L.F.	\$ <u>4,355.00</u>
	Sixty-five dollars (WRITE UNIT PRICE for Item 7a in Words and Numbers)	
ITEM 7b	Removal and Replacement of Curb	
	652 L.F. @ \$ <u>55.00</u> Per L.F.	\$ <u>35,860.00</u>
	(WRITE UNIT PRICE for Item 7b in Words and Numbers)	
ITEM 7c	Removal and Replacement of Concrete Gutter	
	592 L.F. @ \$_60.00 Per L.F.	\$35,520.00
	Sixty dollars	
	(WRITE UNIT PRICE for Item 7c in Words and Numbers)	
ITEM 8	REMOVE AND REPLACE SIDEWALKS AND APRONS	
ITEM 8a	Removal and Replacement of Concrete Sidewalk	
	148 S.Y. @ \$ 100.00 Per S.Y.	\$14,800.00
	One hundred dollars (WRITE UNIT PRICE for Item 8a in Words and Numbers)	
ITEM 8b	Removal and Replacement of Concrete Driveway Apron	
	29 S.Y. @ \$ 140.00 Per S.Y.	\$ 6,960.00
	Two hundred forty dollars	\$ <u>-57755.00</u>
	(WRITE UNIT PRICE for Item 8b in Words and Numbers)	
ITEM 8c	Detectable Warning Surface	
	8 UNIT @ \$ 2.700.00 Per UNIT	\$21,600.00
	Two thousand, seven hundred dollars (WRITE UNIT PRICE for Item 8c in Words and Numbers)	
ITEM 9	NOT IN CONTRACT	
ITEM 10	MOBILIZATION	
	For the LUMP SUM Price of \$_20,000.00	\$20,000.00
	Twenty thousand dollars	Ψ
	(WRITE UNIT PRICE for Item 10 in Words and Numbers)	

ITEM 11	CONCRETE ENCASED DUCT BANK	
	225 L.F. @\$ 200.00 Per L.F. Two hundred dollars	<u>\$45,000.00</u>
	(WRITE UNIT PRICE for Item 11 in Words and Numbers)	
ITEM 12	NOT IN CONTRACT	
ITEM 13	STORM SEWER	
ITEM 13a	Remove & Replace Type B Inlet	
	3 UNIT @ \$ 7,000.00 Per UNIT Seven thousand dollars (WRITE UNIT PRICE for Item 13a in Words and Numbers)	\$ <u>71,000.00</u>
ITEM 13b	Remove & Replace Type A Inlet	
	6 UNIT @ \$ 6.500.00 Per UNIT Six thousand, five hundred dollars (WRITE UNIT PRICE for Item 13b in Words and Numbers)	\$ 39,000.00
ITEM 13c	Remove Storm Sewer (All sizes) 770 L.F. @ \$ 37.00 Per L.F.	\$78,490.00
	Thirty-Seven Collars (WRITE UNIT PRICE for Item 13c in Words and Numbers)	
ITEM 13d	Install 19"x30" HERCP Storm Sewer	
	30 L.F. @\$ 270.00 Per L.F. Two hundred seventy dollars	\$ 8,100,00
	(WRITE UNIT PRICE for Item 13d in Words and Numbers)	
ITEM 13e	Install 36" Diameter CL 52 Ductile Iron Storm Sewer	
	10 L.F. @ \$Per L.F.	\$ 8,000.00
	(WRITE UNIT PRICE for Item 13e in Words and Numbers)	
ITEM 13f	Install 20" Diameter C900 PVC Stormwater Force Main	
	1,170 L.F. @ \$ 460.00 Per L.F.	\$538,200.00
	Four hundred Sixty dollars	
	(WRITE UNIT PRICE for Item 13f in Words and Numbers)	

ITEM 13g	Install 20" Diameter Ductile Iron Stormwater Force Main			
	60 L.F. @ \$ <u>350.00</u> Per L.F.	\$ 21,000.00		
	Three hundred fifty dellars			
	(WRITE UNIT PRICE for Item 13g in Words and Numbers)			
ITEM 13h	Install 18" Diameter CL 52 Ductile Iron Storm Sewer			
	735 L.F. @ \$ 220.00 Per L.F.	\$ 161,700.00		
	Two hundred twenty dollars			
	(WRITE UNIT PRICE for Item 13h in Words and Numbers)			
ITEM 13i	Install 36" Diameter CL 52 Ductile Iron Storm Force Main			
	105 L.F. @ \$ <u>\$70.00</u> Per L.F.	\$ 91,350.00		
	Eight hundred seventy dollars (WRITE UNIT PRICE for Item 13i in Words and Numbers)			
	(WRITE UNIT PRICE for Item 13i in Words and Numbers)	•		
ITEM 13j	NOT IN CONTRACT			
ITEM 13k	Bulkhead Repair at Outfall Penetration			
	For the LUMP SUM Price of \$\(\frac{15}{000}\), \(\frac{00}{00}\)	\$ 15,000.00		
	Fifteen thousand dollars			
	(WRITE UNIT PRICE for Item 13k in Words and Numbers)			
ITEM 13I	Storm Water Manhole			
	3 UNIT @ \$ 6,500.00 Per UNIT	\$ 19,500.00		
	Six thousand, five hundred dollars			
a	(WRITE UNIT PRICE for Item 13I in Words and Numbers)			
ITEM 13m	Catch Basin			
	1 UNIT @ \$ Per UNIT	\$ 65,000.00		
	1 UNIT @\$ 65,090.00 Per UNIT Sixty-five thousand dollars			
	(WRITE LINIT PRICE for Item 13m in Words and Numbers)			

ITEM 13n	Air Release Manhole (If and Where Directed)	
	1 UNIT @ \$ 50,000.00 Per UNIT	\$50,000.00
	Fifty thousand dollars (WRITE UNIT PRICE for Item 13n in Words and Numbers)	
	(WRITE UNIT PRICE for Item 13n in Words and Numbers)	
ITEM 14	TRAFFIC CONTROL	
	For the LUMP SUM Price of \$ 2,000.00	\$ 2,000.00
	Two thousand dollars	
	(Write Unit Price for Item 14 in Words and Numbers)	
ALLOWAN	CE ITEM 1	
	ASPHALT PRICE ADJUSTMENT	
The Lump	Sum Price of \$ <u>Two Thousand Dollars and Zero Cents</u> (Write Unit Price for Item 1 in Words and Numbers)	\$2,000.00
ALLOWAN	CE ITEM 2	
	FUEL PRICE ADJUSTMENT	
The Lump S	Sum Price of \$ <u>One Thousand Dollars and Zero Cents</u> (WRITE UNIT PRICE for Item 2 in Words and Numbers)	\$1,000.00
ALLOWAN	CE ITEM 3	
	FOR UNFORESEEN CONDITIONS	
The Lump S	Sum Price of \$_Twenty Thousand Dollars and Zero Cents (WRITE UNIT PRICE for Item 3 in Words and Numbers)	\$20,000.00
	SE BID (Items 1 through 14 and Allowance Item 1 lowance Item 3 inclusive)	\$ Z, AO, 52500
Two mill	ion one hindred ninety thousand five hundred	_
(WRITE TO	TAL BASE BID in Words and Numbers) twenty-Five d	dlar

SCHEDULE OF SUPPLEMENTAL BID ITEMS

ITEM S1 Install DUAL 30" Class 52 Ductile Iron Pipes

For the LUMP SUM Price of \$ /24,000.00

\$ 124,000.00

One hundred turnty - For thousand dollars
(Write Unit Price for Item \$1 in Words and Numbers)

BID SUMMARY

PRICE FOR BASE BID

\$ 2,190,525,00

PRICE FOR SUPPLEMENTAL BID

\$ 124,000.00

TOTAL BID

\$ 2,314,525.00

BASIS OF AWARD:

Under Contract No. M-126 the Borough of Avalon may elect to award, in addition to the work covered under the BASE BID, work which is included under the SUPPLEMENTAL BID ITEM. The Borough of Avalon reserves the right to award and contract for the following work:

BASE BID (Items 1-14 and Allowance Item 1-3 inclusive) only, OR

BASE BID (Items 1-14 and Allowance Item 1-3 inclusive) plus the SUPPLEMENTAL BID (Item S1)

The decision to award the SUPPLEMENTAL BID ITEM will be made by the Owner after the receipt of bids and will be based on the bid prices and available funding. Only a single award will be made to a single Contractor.

Should the following criteria be met, the Owner will award the Contract to the Bidder that submits the lowest total BASE BID plus SUPPLEMENTAL BID ITEM:

- 1. Funds are available to award the BASE BID plus the SUPPLEMENTAL BID ITEM; and
- 2. The Owner deems that the public benefit provided by the SUPPLEMENTAL BID ITEM exceeds the cost. (The cost may be determined by the actual sum of the SUPPLEMENTAL BID ITEM or by comparison of the total bid to the lowest base bid submitted by another bidder.)

Should the above criteria not be met, the Owner will award the Contract to the Bidder that submits the lowest BASE BID.

ASPHALT CEMENT AND FUEL PRICE INDEX

Contractor shall provide the asphalt and fuel index price for the month before the opening of the bids as
determined and published by the New Jersey Department of Transportation.
(http://www.state.nj.us/transportation/business/trnsport/PriceIndex.shtm)

May	2022
Current Month	Year
Fuel Index: 4.61	
Asphalt Cement Index: 639,∞	

Asphalt Supplier Location: North / South (circle one) of Route 195

Name and Address of Asphalt Supplier

This Bid is accompanied by bid security either in the form of a certified check or cashiers

check drawn on					
	(Name	of Bank)			
	(Address of	f Bank)			
Bank of			in the amo	unt	
of					
Dollars or a Bid Bond in the amount of _					
	Trave	elers Casualty and Surety (Company of		
guaranteed by the undersigned as Bidd	er and	America	as	Surety. Th	nis
Bid is also accompanied by a Conse	ent of Surety	(s) for Performance Bond			

The undersigned Bidder hereby agrees that if this Bid shall be accepted by the Owner and the undersigned shall fail to execute and deliver the Contract and Contract Bonds in accordance with the terms of this Bid and with the requirements of the foregoing Information for Bidders, then the undersigned shall be deemed to have abandoned the Contract, and thereupon the Bid and its acceptance shall be null and void and (1) if a certified check is herewith submitted as bid security, the amount of said check accompanying this Bid shall be due and payable thereunder to the Owner as liquidated damages; otherwise the said certified check, or the amount thereof, shall be returned to the undersigned, or (2) if a Bid Bond is herewith submitted as bid security, the amount specified in the Bid Bond shall be due and payable thereunder to the Owner as liquidated damages in accordance with said Bid Bond; otherwise the Bid Bond shall become null and void.

The undersigned Bidder acknowledges and agrees that such Bidder has received, read, understand, and shall comply with all provisions of the Contract Documents, including Affirmative Action.

ACKNOWLEDGMENT OF RECEIPT OF CHANGES TO BID DOCUMENT FORM

(Name of Loca 78th Street Pump Station M126 (Name of Construction/Public Works Project)	l Contracting Unit)(Proje	ect or Bid Number)
<u>.</u>	(Proje	ect or Rid Number)
(Name of Construction/Public Works Project)	(Proje	ct or Bid Number)
		or or Bia Hambery
Pursuant to N.J.S.A. 40A:11-23.1(a), the understollowing notices, revisions, or addenda to the bid indicating date of receipt, bidder acknowledges the notice, revision or addendum. Note that the local use and that failure to include provisions of changes in a	advertisement, specific submitted bid takes into unit's record of notice to	cations or bid documents. By a account the provisions of the bidders shall take precedence
Local Unit Reference Number Or Title of Addendum/Revision	How Received (mail, fax, Pick-up, etc.)	Date Received
Addendum No 1	Email	4/20/22
Addendum No 2	Email	4/27/22
Addendum No 3	Email	5/3/22
Addendum No 4	Email	5/3/22
☐ NO ADDENDA WAS RECEIVED		
Acknowledgement by Bidder:		
Name of Bidder:South State, Inc	o.	
By Authorized Representative: Cheste	r J. Ottinger, Jr.	

Chester J. Ottinger, Jr., President

Date: _____May 12, 2022

Printed Name and Title: _____